- omm (M4x16)-4pcs

- ¢gmm (M5x16)-4pcs

- Qmm (M6x16)-4pcs
- §)mmmD (M8x25)-4pcs

- ©  (O16x06.2x1.5)-4pcs

- Om® (M5x8)-4pcs

- % wrench-1pcs

H- % (8x70;-6pcs -
& (P16xP8.2x1.5)-6
- =D

(10 x50)-6pcs

AA -% -4pcs

g

P oo i oo o oo = A

« Tighten screws so that wall plate is firmly attached,
but do not overtighten. Overtightening can damage
screws, greatly reducing their holding power.

(D Adijust position

@ Fixed locking plate F




— A
; @
__e_ . 0. 2q
// -
ol “f
N— o .
Tilt adjustment /&
-5 ~+10° —— )
y
)
W,
w
Cables
U-Cap Cable management
\ y,

LED/LCD/Plasma Wall
Support

DQ REACH XXL 101CM

MOUNTING INSTRUCTIONS
e




